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" OPTION-A
(Plant Anatomy and Embryology}
Paper BOT-HG—4016/BOT—-RC—4016

1. Answer very bneﬂy
e 5 B it ¢

) | (@) What is the only 11V1ng cell present in .

. X.Vlem tissue ?

e Wm‘@ﬁﬁ@mﬁs?

(b) Write the tYPe of vascular bundle 1n'

, dlCOt root,

(¢) Who d1scovc
' fertlllzaltlon ?

d) - '
(d) What type of fruit does not bear seeds ? .

: %WW%Wmﬁﬁm?

' Wheat ? dosp erm is found in
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1x7=7 ; 1

red the process of double |

2.

: 3 Answer any three of the followmg

:’3(Sem-4}CBCS)BOTHG1/2,RC/G3 L

() ‘What is cambium ?
- R &

() What are sunken stomata ?
Write briefly : " oxa=8
oL ot 8

(@) Quiescent centre (ﬁ’@;ﬂ m)

(b) - Parachute mechanism of seed dispersal
R RO (A G
() Embiyo sac (FlIER) ©

d) Annual 'ﬁngs ([ET)

5x3=15
weTe T 39 ﬁzasrm f%ﬁmw et 2
(o) Difference - between the 1ntemal=

.structure of dicot and monocot stems.

P SR S o %@ﬁ e
W‘j@%\ctmm@| |
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(b) Write bneﬂy on hea.rtwood and sap- .

wood.

AR I SR W@ wéf b (6] th f%nrn
N (c) Anatomlcal features of xemophytes
R B e i

~ (d) Describe the important theories

relating to the orgamsatlon ~of ‘root
apex. .

Fﬂﬁ%ﬂ‘hﬁhﬁ@%@@qm "fWWFR
Ecok = d ?

fe) What is double fertlhzatlon ? Wnte

briefly about the s:gmﬁcance of double

fertilization.

- R e fa-fRcasm srqqtﬁmg
f?;ram . : B‘E‘F

4, Answer any three of the foHOng
) } - 10x3=30
(a) What is meristematic

'they cIassﬂied
them. ? W rite: briefly about

2+2+6=10

' 3(Sem-4/CBCS) BOTHG 12, RC/G. 4

tlssue ? How are

(b)

Describe . the extrastelar secondary
growth in dicots with suitable
illustration.  Distinguish . between

" - fascicular and. interfascicular

()

(d)

e

cambium. - S 7+3=10 -

ez TR SR Pos @ RIS

. oRfa 3 = elRREiR ORe TOR-

m@aﬁmﬁwwwwwﬂﬁ
i

Descnbe about the contnvances for -
cross pollination in plants

wﬁwmﬁaammwm
=0

How are functional megaspore and
embryo sac formed ? Describe various
types of embryo sac developments in
angxosperms with neat diagram.
2+8=10

aﬂ*ﬁmﬁmm—mxﬁmmm?
Topeis Tfem Rfem Waﬁenw oo

| aﬁfrﬂﬁﬁmmaﬁwn

‘What is permanent tissue ? Describe

different types of simple tissues with
neat diagram. o . 2+8=10
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o o B | . ( Economic Botany and
@ fﬁﬁf{ ?-tﬁdy embryony ? Who first | | Plant Biotechnology)
- ed the phenomenon of ' . E '
polyembryony ? Discribe briefly ‘about Paper : BOT-HG-1020

: ::ili]: cleavage polyembryony with neat | 1. Answer the ﬂfoll'owing queétions :" | 1x7=7
i 2+147=10 o e e b o -
. v . &) Ww ﬁaﬁq . ' (a) Wha . . . . .
: A : t is' the scientific name of gram ?.
W?ﬁ“"‘@%ﬁmmw CR A . L '
A | ‘ P wwifve am /e
S (b)) What is the main alkaloid found in
e : _ black pepper ? ' o

WS (AR T TS R A B
o
(9 Groundnut belongs to which family ?
S R ol e |

(d) Who is known as father of tissue
- culture ? - o '

IR TR 3T T T T2
(e) ' What is gynogenesis ?
ot R
() - Write the full form of RFL.P'.A
 eRemae LR T At R

3 (Sem-4/CBCS) BOT HG 1/3, R ' '
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- | (g)_v -'Whet’ is DNAﬁnge'rp:rint‘ing ?
... Reetaffe: R
. .' ‘Answer the follewing qﬁestio‘ns briefly :
| 2x4=8
w ﬁtn TR 50 ﬁm
| (a) What is endosperm culléure ?
- ‘%mir T 52
{(b) What is blottmg techmque ? |
L ﬂﬁ-’rm e
(c) | What is RAPD._xharker 2.
LECAZALE TR
{d) ‘What is ELISA test ?
“aforar #m ﬁw |

.Wnte short notes on t . :
three) n the followmgsz ?fang
x3=1

e i
~;%ﬁmm€wwmﬁ‘“ (Rezzat

(a) Ongln and eco R ot
Soybean MOMIC . importance of
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FRIRAE el R SR e%g

(b) Scientific names and uses of clove and

black pepper
TR i W [eraited am % W{i

. () Mlcropropagatlon

TRARA

' (d) DNA ﬁngerpnntmg techmque and its

‘uses

.. ﬁﬁ"mﬁﬁ‘ ef%r‘én Wﬁa Eo
(e) Reverse transcriptase—PCR
el GRRFIGT— P,

A

. ~ Answer the folldwihg qpestions’ 1 10x3=30

worS il T TeT ol ¢

- {a) ~ Define centre of origin. Describe

Nikolai Vavilov’s centres of origin with
examples of the crops. - 1+9=10
| GeelfRR g ot | i wiferes
| TeifeR FREEEIR PR TR et
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(b)

(@

_ Describe the | process

Or'/.W.W

. Discuss the centre of | origin, scientific

name, processmg and uses of tea.
‘ 1+1+5+3 10

T %«ﬁﬁw w, wmhe |
Wﬁ(ﬁ@?ﬂtmmﬁmw.

¢m|

Describe | the in vitro pathways of

gynogenesxs and their application. .

Or‘/W.‘

and their practical application, -

3 (Sem-4/CBCS) BOT HG 12, RC/G 10

of embryo culture -
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A
Descﬁbe the rnoleculélr DNA ma.rkers_ ‘
— RAPD, RFLP and SNPs.

s .0, TR TRA P, SR,

P 5.7 P R

5000



